HX—TIKk2 (A48

fHM3F4AH

RECAETXRA/KE MERKEHARBERREE

PRKEEfE  8:30

KEHBER (BXIEKE 2KkHF (EK )
=} Xz [im | KE|B E| pH [ZILAHY BEE H¥E | RIEY £ Y |E &
E REW | 44 Hy
°C °C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 12.5 14.0 | 33.5 7.78
2 i 15.5 14.2 35.7 7.85
3 i 15.0 14.3 22.2 7.76
4 i 16.0 13.4 | 34.8 7.82
5 = 15.0 13.6 17.4 | 1.75
6 i 7.0 12.2 21,0 | 7.74 | 46.9 | 48.6 151 4.6 1.73 | 0.03
7 i 9.0 12.0 19.0 | 7.72
8 i 8.5 12.6 28.9 7.79
9 i 10.0 13.1 18.4 | 7.82
10 i 8.5 12.4 4.9 7.78
11 i 10.0 12.5 9.3 7.79
12 i 10.5 12.8 6.4 7.82
13 [55] 12.0 13.1 22.1 1.77
14 [55] 16.0 13.7 35.5 7.82
15 = 10.0 14.6 5.9 7.78
16 = 10.0 12.8 22.5 7.83
17 = 13.0 12.8 8.9 7.79
18 i 13.0 12.4 10.2 7.80
19 i 13.0 12.3 52.1 7.73
20 i 13.0 13.6 8.5 1.67 51.0 | 68.9 166 5.4 1.51 0.03
21 i 14.5 15.1 1.9 7.79
22 i 11.0 14.4 16. 1 1.75
23 i 12.0 14.8 19.8 7.82
24 i 13.0 14.2 5.3 7.84
25 i 13.0 14.7 5.7 7.80
26 i 13.0 14.6 6.5 7.87
217 i 14.0 14.2 4.6 7.85
28 i 11.5 14.2 9.2 7.81
29 [55] 14.5 14.6 6.4 7.8
30 i 15.0 13.6 86.0 | 7.85
Ty 12.3 13.6 19.5 7.79 | 48.9 58.7 159 5.0 1.62 | 0.03
=E 16.0 15.1 86.0 | 7.87 51.0 | 68.9 166 5.4 1.73 | 0.03
=K 7.0 12.0 4.6 1.67 46.9 | 48.6 151 4.6 1.51 0.03




HX—TIKk2 (A48

fHM3F4AH

RECAETXRA/KE MERKEHARBERREE

PRKEEfE  8:30

KEHBER (BXIRKE Kt GFK )
=} Xz [im | KE|B E| pH [ZILAHY BEE H¥E | RIEY £ Y |E &
E REW | 44 Hy
C C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 12.5 14.2 0.9 7.40
2 i 15.5 14.8 0.3 7.48
3 i 15.0 15.1 0.8 7.44
4 i 16.0 14.5 0.5 1.47
5 = 15.0 14.1 1.1 7.42
6 i 7.0 13.0 1.1 7.34| 39.9 55.7 107 5.5 0.06 <0.02
7 i 9.0 12.2 0.7 7.50
8 i 8.5 12.9 0.6 7.44
9 i 10.0 13.1 0.4 | 7.56
10 i 8.5 12.3 0.7 7.53
11 i 10.0 12.5 0.6 7.55
12 i 10.5 12.8 0.5 7.54
13 [55] 12.0 13.6 0.8 1.57
14 [55] 16.0 13.9 0.9 7.53
15 = 10.0 14.3 0.6 1.57
16 = 10.0 13.6 0.7 7.58
17 = 13.0 13.1 0.6 7.54
18 i 13.0 12.9 0.8 7.55
19 i 13.0 12.3 1.0 7.37
20 i 13.0 12.8 1.0 7.35| 43.1 62.8 115 6.0 0.02 <0.02
21 i 14.5 14.2 0.8 7.48
22 i 11.0 14.5 0.8 7.51
23 i 12.0 14.7 0.8 7.56
24 i 13.0 14.3 0.6 7.59
25 i 13.0 14.8 0.6 7.55
26 i 13.0 14.3 0.7 7.66
217 i 14.0 13.9 0.6 7.64
28 i 11.5 14.3 0.6 7.60
29 [55] 14.5 15.0 0.4 | 7.57
30 i 15.0 14.4 0.8 7.61
Ty 12.3 13.7 0.7 7.52 | 41.5 59.2 111 5.7 0.04 | <0.02
=E 16.0 15.1 1.1 7.66 | 43.1 62.8 115 6.0 | 0.06 <0.02
=K 7.0 12.2 0.3 7.34 | 39.9 55.7 107 5.5 0.02 <0.02




